Consolidation work 33 Second Level ***

1.  34.5 – 12.7 – 9

2.  42 x 400

3.  765/1000

4.  25% of 4404m

5.  2/5 of 350cm

6.  Convert 86% into a fraction and a decimal. 

7.  2ml = ___ litres?

8.  There are 7 brown eggs for every 2 white eggs. There are 35 brown eggs. How many white eggs?

9.  Simplify 270/450

10.  It costs 3 adults £69.75 for their entrance to the zoo. How much each?

11.  Write: two million, six hundred thousand and forty in digits. 

12.  -6 – 8

13.  5y – 8 = 22

14.  Write the missing angle in this straight angle: 131 degrees and ??

15.  What is 8 squared minus 3 squared?

16.  What is the area of a right angle triangle when: l = 4.7m and b = 5m?

17.  Order from biggest to smallest: 4/10,  43/100,  34%,  54%,  0.04,  0.55

18.  I buy 3 toys, each priced £5.02. How much change from a £50 note? 

19.  54 x 63
20.  5635 + 3765
